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1. Find the inverse ( A') of the matrix

F'1-1 0
A= 1 0 —1].(15%)
6 2 3

2. Find the determinant (|A}) of the matrix

0 2 1
A=|3 -1 2/|.(15%)
4 -4 1

3. Find the solution of the system of linear equations Ax=b,

1 0 -2 1 5
A=!3 1 =5 0|, b= 8|.(15%)
12 0 -5 -9

4. Find the transition matrix from B to B’ for the following bases for R,
={(-3.2).(4.-2)} and B'=(-1.2). (2,-2)}. (10%)

5. The vectorsv, =(0,1,0)and v, = (1.1, 1) spans 4 piane in R . Find an orthonormal
basis for this subspace (applying the Gram-Schmidt orthonormalization process).
(10%)

6. Find the mattix A’ for the linear transform T: R* - R’,
T(x,,x,)y=(2x, —2x,. — X, +3x, ),

relative to the basis B = {(1, 0}, (1. 1)}. (10%})

7. (a) Find the eigenvalues and corresponding eigenvectors of

A= 1 3 1].(15%)
-3 b -1

(b) Find a matrix P such that P~ AP is diagonal. (10%) RHE
End of exam




